Reaction Types & Balancing Review

Chemistry

1. When the equation

_CHs+__ _O2 »_ CO2+__ HO
is balanced using smallest whole numbers, what is the
coefficient of the O2?
A) 1 B) 2 C)3 D) 4

. Given the balanced equation with an unknown compound
represented by X:

enzyme

CeH1206(aq) ——— 2X + 2CO02(g)

Which compound is represented by X?

A) CHz2(OH)4(aq) B) CHsOH(aq)
C) CH20HCH20H(agq) D) CHsCH20H(aq)

. Given the unbalanced equation:

_Cd(OH)g +__ (NH4)2804 — _ CaSO4 +___ NH3 +___ H»>O

What is the sum of the coefficients when the equation is completely balanced using the smallest whole number

coefficients?
A) 7 B) 5 C)9 D) 11
N2(g) + 3 Hx(g) <> 2 NH3(g) 9. Given the word equation:

What type of reaction is shown above?

A) single replacement
C) decomposition

B) double replacement
D) synthesis

. Based on Table F, which compound is /east soluble in
water?
A) AgC2H302 B) Li2SO4
C) AIPO4 D) Ca(OH)2

. Which change results in the formation of different
substances?
A) deposition of co,(g)
C) melting of NacCi(s)

B) burning of propane
D) solidification of water
. Which list includes three types of chemical reactions?

A) solidification, double replacement, and decomposition
B) decomposition, single replacement, and solidification

C) decomposition, single replacement, and double
replacement

D) solidification, double replacement, and single
replacement

. Given the balanced equation:
2KCIOs3 — 2KCI + 302

Which type of reaction is represented by this equation?

A) double replacement
C) decomposition

B) synthesis
D) single replacement

sodium chlorate — sodium chloride + oxygen

Which type of chemical reaction is represented by this
equation?

A) double replacement
C) single replacement

B) synthesis
D) decomposition
10. Given the balanced equation:

X+ Cl2 - C2HsCI + HCI
Which molecule is represented by X?

A) CsHs B) C3sHs C) C2Hs4 D) Cz2He




11.

Given the balanced equation representing a reaction:

K>COj3(aq) + BaClz(aq) — 2KCl(aq) + BaCOg3(s)

Which type of reaction is represented by this equation?

A) synthesis B) single replacement
C) double replacement D) decomposition

12.

13.

Given the balanced equation:

2KI 4+ Fy — 2KF +1»

Which type of chemical reaction does this equation
represent?

A) decomposition B) double replacement
C) single replacement D) synthesis

Given the unbalanced equation:

— Mg(ClO3)a(s) — — MgCla(s) +_ Oa(g)

18.

Given the balanced equation representing a reaction:

4NHs + 502 -, 4NO + 6H20
What is the minimum number of moles of Oz that are
needed to completely react with 16 moles of NH3?

A) 80. mol B) 64 mol
C) 20. mol D) 16 mol

What is the coefficient of O2 when the equation is balanced correctly using the smallest whole number

coefficients?

A) 1 B) 2 C)3

D) 4

14.

15.

16.

17.

Given the incomplete equation for the combustion of
ethane:

2C2oHe+ 702  4CO2+6 ___
What is the formula of the missing product?

A) HCOOH B) H20
C) H202 D) CHsOH
Which two solutions, when mixed together, will undergo a

double replacement reaction and form a white, solid
substance?

A) NaCl(aq) and LiNO3(aq)

B) NaNOs(aq) and AgNOs(aq)

C) KCl(aq) and AgNOs3(aq)

D) KCl(aq) and LiCl(aq)

Which balanced equation represents a
single-replacement reaction?

A) MgCOs —, MgO + CO2

B) 2Mg + O2 — 2MgO

C) Mg + 2AgNO3 —, Mg(NOs3)2 + 2Ag

D) MgCl2 + 2AgNOs3 - 2AgCI + Mg(NOg)2

According to Table Fwhich compound is soluble in water?

A) silver iodide B) sodium perchlorate
C) calcium sulfate D) barium phosphate

19.

20.

When Pbl2(s) is added to Na2COs(aq), a white precipitate

is formed. According to Reference Table F, the white
precipitate most likely is

A) KNOs B) Na2COs3
C) PbCOs D) Nal

The reaction,

Ba(NOs)2(aq) + Na2SO4(aq) —
2 NaNOs(aq) + BaSOa(s),

forms a precipitate whose name is

A) barium sulfate B) barium nitrate
C) nitrogen D) soluble salt
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Answer Key
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